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k= o|O|5t= true, A2 2|0|5t= farse-

(TrueAndFalse.cpp)
#include <iostream>
using namespace std;
int main(void) {
int num = 10 | true= &, false= "AHA'S 2|0|5t= 1H}O|E GO
inti = 0; O 22 242t ‘== 11t 00| Ot .
| B4z v 2z 11002 Y B

cout << "true: " << true << endl;
cout << "false: " << false << endl;
while (true) {
cout << [++ <<
if (i > num)
break;

1o,
]

cout << endl;

cout << "sizeof 1: " << sizeof(1) << endl;

cout << "sizeof 0: " << sizeof(0) << endl;

cout << "sizeof true: " << sizeof(true) << end|;
cout << "sizeof false: " << sizeof(false) << endl;
return O;
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¢ true?} false= boold L{|O|E{
¢ bool E 72X

#include <iostream>
using namespace std;
bool IsPositive(int num) {
If (num < 0) return false;
else return true;
}
int main(void) {
bool isPos;
Int num;
cout << "Input number: ";
cin >> num;
IsPos = IsPositive(num);
if (isPos)
cout << "Positive number" << endl;
else

cout << "Negative number" << end;

return O;
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#include <iostream>
using namespace std;

Int main(void) {

iInt num1 = 1020;
INt& num2 = num1;

num2 = 3047; /

cout << "VAL: " << num1 << endl;
cout << "REF: " << num2 << endl;

cout << "VAL: " << &num1 << endl;
cout << "REF: " << &nhum?2 << endl;

return U,
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(RefArrElem.cpp, RefPtr.cpp)

int main(void) {
intarr[3] ={1, 3,5}
INnt& refl = arr[0]; int& ref2 = arr[1]; int& ref3 = arr[2];

cout << refl << endl: cout << ref2 << endl: cout << ref3 << endl:

\
int num = 12; Hf E 2 A0f CHS reference’ts.
it ptr = &num; | dof CHSfA = E7Hs.
int** dptr = &ptr,
Int& ref = num;
int* (&pref) = ptr;
int** (&dpref) = dptr;
\
cout << ref << endl; | ZLQIE{O| CHBt reference 7ts.

cout << *pref << end|;
cout << **dpref << end|;
return O;
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ZEXXIE 0|28t call-by-reference
(RefArrElem.cpp, RefPtr.cpp)

#include <iostream>
using namespace std;

void SwapByRef2(int &refl, int& ref2)
{

int temp=ref1;

ref1=ref2; S
} main2 42| vall, val22| C}E 0| EC 2
SwapByRef2 2t=2| ref1, ref27f 4 7IC},

int main(void)
{
int val1=10;
int val2=20;

SwapByRef2(val1, val2);
cout<<"vall: "<<vall<<endl
cout<<"val2: "<<val2<<end];
return O;
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¢ C2IXE MEE int & W2 & 1 SIHAPI= g
¢ QIXIE MEE int @ W4 S E U= &

¢ 9| 5 B4E S&5H main @5

#include <iostream>
using namespace std;

void IncreOne(int& num) { num++; }
void InverSign(int& num) { num *= -1, }

int main(void)
{
int val = 20;
IncreOne(val);
cout << val << endl;
InverSign(val);
cout << val << endl;
return O;
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void HappyFunc( const int &ref ) { ---
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int& num?2 = RefRetFuncOne(num1);

numT++;
cout << "num1;: " << num1 << endl;

cout << "num2: " << num2 << endl;

iInt num1 =
return O;

num2++;
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ref++;

#include <iostream>
iNnt& RefRetFuncOne(int& ref) {

using
int main(void) {

}
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nst O{7HH2| C}= 2|0

o Mi3lE He

@ MO HIY : const int &ref = 30;
o LHIF Xz2| 2 : AIHS MM510{ 30= 225111 ref EM &FX.
& AML3FIEI HAE 0|28 const &HE D74
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int Adder( const int &num1, const int &num2) { --- }
® ?:.‘-1‘- SE E'#ﬂ
cout << Adder(3,4) << endl;
e [D§7H¥i=~0i| const7} SICHH &M X2 &+E & = SiLC.



[2]2] OlE{Q} const EZ=Xf
¢ FEOIE| HE MAS10 Of2f HE 712|7H BX}

const int num = 12;
¢ 9 ECIE| H0f Cist sXHEE M6l 2}
¢ FEOIE| Mol FXMEE 0[&5101 nume| Zi= stHY| S={51A}

#include <iostream>
using namespace std;

int main(void)

{

const int num = 12;

const int* ptr = &num;
const int* (&ref) = ptr;

cout << *ptr << end|;
cout << *ref << endl;

return O;
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malloc, free -> new, delete

¢ malloc, free BAlo| 27}X| B sH&
e Byte CHIZ 37|72t SHOF &
e HIsl Zhof| CiSt HA|XO] &L gl TIQ

== HA O b= =

¢ new E'!“u*

QS 2= = [1 ol 7H EA|.

® int *ptr1 = new int;

® double *ptr2 = new double;

® int *arr1 = new int[3];

® double *arr2 = new double[7];
¢ delete Y

Hid=S distet D= [1 B FEAJ.

® delete ptri;

® delete ptr2;

® delete [] arri;

® delete [] arr2;

¢ 23 MMol= U=EA| new AFZ! (malloc FX|)
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int *ptr = new int;
int &ref = *ptr;

ref = 20;

cout << *ptr << endl;
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[=AI3] 2ZH|0fl CHet new, delete

& ZI®EZIE ESIS=E A7 QICT.
typedef struct {
int Xpos;
int ypos:;
} Point;

¢ Oz} Hele et+~= Aelsiatl. o] et
Point &PointAdder( const Point

szo rIr

ettt B2 XS diatsiC].
p1, const Point &p2 );
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[=AI3] 2ZH|0fl CHet new, delete

#include <iostream>

using namespace std;

typedef struct {
Int Xpos;
Int ypos;

} Point;
Point &PointAdder(const Point
Point * pptr = new Point;

pptr->xpos = p1xpos + p2.xpos;

pptr->ypos = pl.ypos + p2.ypos;
return *pptr;

p1, const Point & p2) {

}
Int main(void) {
Point * pptri
Point * pptr2

new Point; pptr1->xpos = 3; pptr1->ypos = 30;
new Point; pptr2->xpos = 70; pptr2->ypos = 7;

Point & pref = PointAdder(*pptr1, *pptr2);
cout << "[" << prefxpos << ", " << prefypos << "]" << end];

delete pptr1; delete pptr2; delete & pref;
return O;
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¢ C20{e #F sy} CHSE|= C++ EE of|H md A5
0
(1) 240l c =0]|2
(2) F12| .h ME}st 0|E= includedial AlE.
® O0f: #include <stdio.h>
-> #include <cstdio>

& CA0{e EZE dCjnled = AI=2E £ 2} X|9t 84 overloading
=S9| xl0|7} B2 C++ EE S|ICIE AI25}AL.
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¢ [} 3 e+= 0|&510{ 5 0|AF 200 0]512] Lt 57 E &=5l=
Z2HSE ZMSIA2. CAHO{NM= time &= <time.h> 0],
rand®} srand &$= <stdlib.h>0j] MSHE|0] 2I2L} 07 |AM =

C++ 3llciS AFZ35101 ZHA51AL.
® rand, srand ,time

#include <iostream>
#include <cstdlib>
#include <ctime>
using namespace std;

int main(void)
{
srand(time(NULL));
for (inti =0;i <5;i++)
printf("Random number #%d: %dWn
return O;

}

"1, (rand() % 196) + 5);
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#include <iostream>

#include <ctime> [AlE] HEZE{Q} 71

using namespace std;

int main(void) { H['?'IE
const char* name[3] = { "7} [", "HF", "E" };
int you, computer;

srand(time(NULL));

cout << "ZtR|(1) HI®I@2) E3) : ",
cin >> you;

you--;

computer = rand() % 3;

cout << "TAMO| HH A " << name[you] << endl;
cout << "HFEIL H 2 " << name[computer] << end|;
Int prev_you = (you + 2) % 3;
Int next_you = (you + 1) % 3;
if (computer == next_you)

cout << "AFHZ} O|HLCH" << endl
else if (computer == prev_you)

cout << "EAO| O|ZALCH" << endl;
else

cout << "H|ZALCH" << endl
return O;




